CHESS   Sat  20  Nov  2004                                  David  Ellis  9276 1822  /  openfile@bigpond.com      1

How does Black save the game (5 moves)?
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Australia can be very satisfied with the efforts of our Olympiad team which finished 35th (129 teams) on 31/56, 8.5 behind the winner Ukraine & the same as 6th seeded England.  Although Australia has only 2 Grandmasters, the team selected was virtually the best possible & every player did his country proud – Ian Rogers (6.5/11), Daryl Johansen (4/10, including a draw with FIDE champion Kasimdzhanov), Gary Lane (4/8), Stephen Solomon (4.5/8), Zhao Zong Yang (6.5/10), David Smerdon (5.5/9). Perhaps Australia’s outstanding result was the draw with England – Rogers drew with Michael Adams who with (10/13) had the highest board 1 score, Lane beat Nigel Short, Zhao lost to McShane, Smerdon drew with Speelman.  Here is Australian champion Gary Lane’s fine win against Kasparov’s 1993 challenger: 



               GARY  LANE   -   NIGEL  SHORT



                      2004 Olympiad, Round 13



                         French Tarrasch, 3...h6



 1     e4 
e6  


 2     d4  
d5



 3     Nd2  
h6(a)  


 4     c3  
c5



 5     Ngf3  
Nf6  


 6     exd(b)  
Nxd5



 7     Nb3  
Nd7  


 8     Bd3  
Qc7



 9     Bc2  
b6  


10    0-0 
Bb7



11    Re1  
Be7  


12    Ne5  
Nxe5




13    dxe5 
0-0-0(c) 

14    Qg4(d)  
h5

15    Qc4  
g5  


16    a4  
a6

17    Bd2  
Kb8  


18    Rad1  
g4

19    Nc1  
Rdg8  


20    Be4  
h4

21    Nd3 
g3  


22    h3   
gxf+

23    Nxf2  
Qxe5?(e)  

24    Bxd5  
Bxd5(f)

25    Qxd5!  
Qxd5 


26    Bf4+  
Bd6

27    Bxd6+ 
Kc8 


28    Rxd5 
exd5

29    Re7 
Rh6(g)  

30    Bf4  
Rhg6

31    g4  
hxg  


32    Ng4  
R8g7

33    Kg2  
d4  


34    cxd  
cxd

35    Be5  
d3  


36    Rc7+(h) 
Kd8

37    Rc3  
Rxg4  


38    Rxd3+  
Ke7

39 hxg4 & wins(i)

a)  A most unusual move: besides the more common 3...c5, ...Nf6, ...Nc6 & ...dxe, some other off-beat moves are 3...a6, ...b6, ...f5 & ...e5?!

b)  By virtually giving White an extra move with 3...h6 Black has got White to place his king’s knight on f3, depriving the other knight of that square, thus making 6 e5 less effective.

c)  Black’s opening appears to have been successful with the position offering chances to both sides.

d)  Played not to attack the g pawn (taking it would hand Black a half open file for an attack against the king) but to manoeuvre the queen to the queenside.

e)  A losing pawn grab: Black fails to see the latent pin of his e pawn which provides protection to the bishop on e7 which will lose its 2 defenders. 

f)   If 24...Qxd5?  25 Bf4+.

g)  Although material is roughly equal, White’s pieces are much better co-ordinated.

h)  Ensuring the elimination of the passed d pawn.

i)  Continued: 39...Rxg4  40 Rd4, Rg5  41 Bf4, Rg6  42 Bxg3, a5  43 b3, Rc6  44 Re4+, Kd7  45 Kf3, Rf6+  46 Bf4, Rc6 & resigns. 

Reg Burlinson, who served as the first president of WA Chess Association (1959-64), passed away on October 30th, aged 94.  Reg, who came to WA from NSW in 1955, was a founder member of the Fremantle CC and, through his enthusiasm & wisdom, took a leading role in the establishment of organised chess in WA.

SOLUTION:  1...Rxh4+ (preventing 2 Bg5#) 2 Kxh4, Bd5! (3 Bxd5, e2 or 3 Rc8, Bf6+  4 Kg4, e2  5 Bxe2, Be6+) 3 Rg4, Bf6+  4 Kh3 (4 Kg3, Be5+)  4...e2!  5 Bxe2, Be6=).

